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5.3

25
26




1
1.1
1.1.1
ho 0.843 (m)
VO 1.424 (n/s)
hc 0.528 (m)
Ve 2.274 (m/s)
hla 0.260 (m)
Vla 4.613 (m/s)
1b 0.304 (m)
h2 0.843 (m)
V2 1.424 (m/s)
1.1.2
0.609 (m)
0K
2.500 (m)
1.1.3
2.000 (m)
hla < hilb
L1 = 2.081 (m)
L2 = 3.793 5.057 (m)
L =L1+L2= 5.873 7.137 - 7.000 (m)
LB = 2.528 4.214 . 4.000 (m)
1.1.4
0.004 (kN)
0.265 (kN)
0.021 (kN)
0.000 (kN)

FORUMS8




1.2
1.2.1
(m
N(kN) M(kN.m) X(m) R ca
199.281 1745.752 8.760 0.240 3.000 | OK
553.397 5301.722 9.580 -0.580 3.000 [ OK
192.097 1576.410 8.206 0.794 6.000 | OK
481.418 4495.737 9.339 -0.339 6.000 [ OK
1.2.2
N(kN) H(KN) Fs Fsa
199.281 32.045 4.353 1.500 | OK
553.397 11.068 35.000 1.500 [ OK
192.097 92.109 1.460 1.200 | OK
481.418 75.074 4.489 1.200 | OK
1.2.3
(kN/m?)
N(kN) M(KN.m) e(m) x(m) p Pa
199.281 1745.752 0.240 26.281 11.956 | 294.000 | OK
553.397 5301.722 0.580 25.259 36.691 | 294.000 | OK
192.097 1576.410 0.794 24.619 13.495 | 441.000 [ OK
481.418 4495_737 0.339 25.984 29.764 | 441.000 | OK

FORUMS8




2.1
2.1.1

2.1.2

.| 843

16. 000 2.000
0

2.000 Hi

1

i)
0} 304
600
. 260
0.|528
b
(}%@
N
1. 400

2. 500

4.000 7.000

4.000 2.000

Sample2

2.1.3

Q : 30.000 (m*/s)
= 25.000 (m)

1(1/#) n

400.00 0.0300

400.00 0.0300

400.00 0.0300

2.1.4

nla : 0.0300

1.600 (m)

D2

0.300 (m)

D3

0.300 (m)

Z1

1.300 (m)

0.300 (m)

D1

1.000 (m)

FORUMS8



2.1.5
]
Wu 2.000 (m)
11(1:#) 0.0000
12(1:#) 10.0000
H1 1.400 (m)
H2 0.000 (m)
H3 0.000 (m)
w1 0.000 (m)
w2 16.000 (m)
d 1.000 (m)
]
C - 5.000
Ic(m) X(m)
2.500 0.000
2.000 0.000
2.2
2.2.1
1(
]
No. X(m) Y(m)
1 0.000 4.600
2 0.000 1.600
3 25.000 1.600
4 25.000 4.600
2.2.2
1(
]
No. X(m) Y(m)
1 0.000 3.000
2 0.000 0.000
3 25.000 0.000
4 25.000 3.000
2.2.3
1(
]
No. X(m) Y(m)
1 0.000 3.300
2 0.000 0.300
3 25.000 0.300
4 25.000 3.300

FORUMS8




2.2.4
1(
|
No. X(m) Y(m)
1 0.000 3.000
2 0.000 0.000
3 25.000 0.000
4 25.000 3.000

FORUMS8



: Q = 30.000 (m/s)
hc 1

Q-B 30. 000” + 25. 000
F = = = 1.000

g A 9.800 - 13.192°
hc = 0.528 (m)
Ve = 2.274 (m)
A= 13.192 (m%)
B = 25.000 (m)
h2
h2 = 0.843 (m)
V2 = 1.424 (m)
A= 21.070 (m°)
B = 25.000 (m)
3.2
3.2.1
2 o =¥
2 121 2
o =71 +h + 2% 0o
2g + Al° 2R1"°A1?
2 2 2
T - hia + aQ : nla}Q :
2g * Ala’ 2R1a""Ala’
hla = 0.260 (m)
Vlia = 4.613 (m/s)
Z1 : (m)
hl, hla : (m)
Vla : (m/s)
Al, Ala : (m)
nl, nla :
| : (m
R1, Rla : (m
Q : (m/s)
g (m/s?)
a (=1D)
3.2.2
AH=hc+D - hla=0.528 + 1.600 - 0.260 = 1.868 (m)
3.3
3.3.1

FORUMS8



L
3 y

AH

L
CX AH = §+ 2y

18. 060
5.000X1.868 = + Xy
> ly 3.318 (m)
C
L : (m
Sy : (M E11+12+13+14)
AH (m
A
jho 4 2
“nH
14
3.3.2
_ Zly - (|H-D2+ d)
B 2
3.318 - (1.400 - 0.300 + 1.000)
B 2
=0.609 (m)
Icl = 2.500 (m)
Ic2 = 2.000 (m)
= 0.609 - 2.500 (m) (OK)
H : (m
D2 : W)
d : (m

FORUMS8



4.1
@

@

®

*

(KN/P)

24.520

(KN/T)

9.810

(KN/P)

18.000

(KN/T)

19.620

(KN/P)

9.810

0.70

Kh = 0.14

1/3

2/3

1.50

1.20

(KN/m)

294.0

441.0

)]

hwb(m)

0.528

hwm(m)

0.461

hwf(m)

0.260

hwb(m)

0.528

hwm(m)

0.461

hwf(m)

0.260

)]

FORUMS8




hwb(m) 0.000

hwm(m) 0.000

hwf(m) 0.000

[ 1

hwb(m) 0.000

hwm(m) 0.000

hwf(m) 0.000

4.2
4.2.1 ,
@
® @®
@
(0 Vi Xi Vi Yi
m | @ @ [ m |V [y vi vAap e
1| 2.000| 1.400 | 1.400| 1.000 2.800 | 17.000 | 1.900 47.600 5.320
2| 4.000| 0.000 (| 0.400 ( 1.000 0.800 | 14.667 | 2.333 11.733 1.867
3| 4.000| 1.000 (| 1.000 | 1.000 4.000 [ 14.000 | 1.700 56.000 6.800
4112.000| 1.000( 1.000 | 1.000 12.000 [ 6.000 | 1.100 72.000 13.200
z 19.600 [ — —_— 187.333 27.187
X6 =% (Vi Xi) / X Vi= 187.333 / 19.600 = 9.558 (m)
Ye =X (Vi Yi)/ ZVi= 27.187 / 19.600 = 1.387 (m)

FORUMS8
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@)
( )
™ Vi Xi Vi Yi
m @ | m | @ | Vi) [y Vi SR R
1| 2.000| 0.528 | 0.528 | 1.000 1.056 | 17.000 | 2.864 17.952 3.024
2| 4.000| 0.461| 0.528 | 1.000 1.978 | 14.045 | 2.652 27.781 5.246
3112.000 | 0.260 | 0.461 | 1.000 4.326 | 6.558 | 1.841 28.368 7.963
2z 7.360 | — E— 74.101 16.233
X6 =2 (Vi Xi) /ZVi= 74.101 / 7.360 = 10.068 (m)
Y6 == (Vi Yi)/ ZVi= 16.233/ 7.360 = 2.206 (m)
( )
™ Vi Xi Vi Yi
m | @ @ [ m |V [y vi vAap e
1| 2.000| 0.528 | 0.528 | 1.000 1.056 | 17.000 | 2.864 17.952 3.024
2| 4.000| 0.461| 0.528 | 1.000 1.978 | 14.045 | 2.652 27.781 5.246
3112.000 | 0.260 | 0.461 | 1.000 4.326 | 6.558 | 1.841 28.368 7.963
2z 7.360 | — —_— 74.101 16.233
X6 =2 (Vi Xi) /ZVi= 74.101/  7.360 = 10.068 (m)
Yo =S (Vi Yi)/ =Vi= 16.233/  7.360 = 2.206 (m)
® .
( )
m) (KN/m) (kN) (m) (kN.m)
19.600 24.520 | 480.592 9.558 4593.413
0.000 19.620 0.000 0.000 0.000
7.360 9.810 72.202 10.068 726.934

FORUMS8
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)
™) | /) (kN) ) (kN.m)
19.600 24.520 | 480.592 9.558 4593.413
0.000 19.620 0.000 0.000 0.000
7.360 9.810 72.202 10.068 726.934
)
@) | (kN/1) (kN) @ (kN.m)
19.600 24.520 | 480.592 9.558 4593.413
0.000 19.620 0.000 0.000 0.000
0.000 9.810 0.000 0.000 0.000
@) Kh (kN) @ (kN.m)
480.592 0.14 67.283 1.387 93.326
0.000 0.14 0.000 0.000 0.000
)
@) | N/ (kN) () (kN.m)
19.600 24.520 | 480.592 9.558 4593.413
0.000 19.620 0.000 0.000 0.000
0.000 9.810 0.000 0.000 0.000
) Kh (kN) m (kN.m)
480.592 0.14 67.283 1.387 93.326
0.000 0.14 0.000 0.000 0.000
4.2.2
@ C )
y t(kN/m%) 18.000
y b(kN/m*) 19.620
y bw(kN/m®) 9.810
y W(kN/m*) 9.810
a( ) 0.000
0( ) 30.000
5( ) 20.000
5( ) 15.000
Kh 0.14

FORUMS8
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) ( )
( )
bs
% I EX]!
1 2 3

m 1.100 | 0.000 | 0.000 1.100
) 0.000 1.100 1.100 | ——
) 1.100 |  1.100 1.100 | ——
9() 0.000 |  0.000 0.000 | ——
Ka 0.2973 0.2973 0.2973 | ——
y (KN/m) 9.810 |  9.810 9.810 | ——
Pu(KN/?) 0.000| 0.000| 0.000 | ——
PI (kN/mz) 3.208 0.000 0.000 e
P(KN) 1.765| 0.000| 0.000 | ——
PV(KN) 0.604 0.000 0.000 0.604
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 1.658 0.000 0.000 1.658
YG(m) 0.367 0.000 0.000 0.367

k., TEEKTZ—ae R RO,

Ka =

cos’(p—0)

, sin(¢+0) * sin(p-a) ’
cos’O +cos(O+0) « [1+

cos(0+6)

ccos(0-a)

FORUMS8
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( )
E
N l <1
1 2 3

(m 1.100 0.000 0.000 1.100
(n) 0.000 |  1.100 1.100 | ——
@) 1.100 1.100 1.100 | ——
9 () 0.000 0.000 0.000 | ——
Ka 0.2973 0.2973 0.2973 | —
y (kN/i) 9.810| 9.810| 9.810 | ——
Pu(kN/m") 0.000 0.000 0.000 | —
PI(kN/m’) 3.208 0.000 0.000 | —
P(kN) 1.765 0.000 0.000 | —
PV(kN) 0.604 0.000 0.000 0.604
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 1.658 0.000 0.000 1.658
YG(m) 0.367 0.000 0.000 0.367

k. TEEEIT—aeRIZE VRO,

Ka

cos’(p—8)

cos’0 +cos(0+§) *

X sin(¢+6) *sin(p-a) ’
+
cos(0+0) -+

cos(0-a)

FORUMS8
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( )
X
% l X 1
1 2 3
(m) 1.100 | 0.000 |  0.000 1.100
) 0.000| 1.100 | 1.100 | ——
() 1.100| 1.100 | 1.100 | ——
() 0.000| 0.000| 0.000| ——
8 0 = tan’(Kh")( ) 15.642 | 15.642 | 15.642 | ——
Kh* =y b/(y b - y W) Kh 0.280| 0.280| 0.280 | ——
Kea 0.5377 | 0.5377 | 0.5377 | ——
y (KN/) 9.810| 9.810| 9.810 | ——
PuCkN/m) 0.000 | 0.000 | 0.000 | ——
PI(KN/IT) 5.802| 0.000 | 0.000 | ——
P(KN) 3.191| 0.000 | 0.000 | ——
PV(KN) 0.826 | 0.000| 0.000| 0.826
XG(m) 0.000 | 0.000| 0.000| 0.000
PH(KN) 3.083| 0.000| 0.000| 3.083
YG(m) 0.367| 0.000| 0.000| 0.367
ek, THEREIIMES - OIS LV RO T,
cos’(¢p—0-0,)

Kea =

cosBo*cos’B *cos(B+5+0,) * (HX/

sin(¢p+6) *+ sin(dp-—a—-0,)

cos(O+5+0,)

ccos(f-a)

2

FORUMS8
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( )
I
% l T
1 2 3

(m 1.100 0.000 0.000 1.100
m 0.000| 1.100| 1.100| ——
m 1.100| 1.100| 1.100 | ——
8() 0.000| 0.000| 0.000| ——
60 = tan'(Kh")( ) 15.642 | 15.642 | 15.642 | ——
Kh* =y b/Cy b - y w) Kh 0.280| 0.280| 0.280| ——
Kea 0.5377 0.5377 0.5377 | ———
v (KN/IT) 9.810| 9.810| 9.810| ——
Pu(kN/m?) 0.000 0.000 0.000 [ —
PI(KN/m?) 5.802 0.000 0.000 | —
P(KN) 3.191 0.000 0.000 [ —
PV(kN) 0.826 0.000 0.000 0.826
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 3.083 0.000 0.000 3.083
YG(m) 0.367 0.000 0.000 0.367

B, LERIKIIWE - ME ORI LV RDTIZ,

Kon cos’(¢p—0-0,) :
( sin(p+6) + sin(dp—a—00)
cos o cos’@ = cos(B+5+0) + [1+
( N/cos(6+6+60)-cos(6—a)
4.2.3
@ « D
Wo(kN/m*) 9.810

FORUMS8
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@

P YYYYYYVYY

>

A\

A

i X1

1 2 3
(m) 1.400 0.000 0.000 1.400 1.000
(m) 0.528 1.928 1.928 | —— 0.260
(m) 1.928 1.928 1.928| —— 1.260
PUCKN/) 5.180| 0.000| 0.000| —— 2.551
PI(KN/m?) 18.914 0.000 0.000 [ — 12.361
P(KN) 16.865 | 0.000| 0.000| —— 7.456
PV(KN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 16.865 0.000 0.000 16.865 7.456
YG(m) 0.567 0.000 0.000 0.567 0.390
)
é % I 1
1 2 3
(m 1.400 0.000 0.000 1.400 1.000
(m) 0.528 1.928 1.928 | —— 0.260
(m) 1.928 1.928 1.928| —— 1.260
Pu(kN/m®) 5.180 0.000 0.000 | — 2.551
PI(KN/m?) 18.914 0.000 0.000 [ — 12.361
P(kN) 16.865 0.000 0.000 | — 7.456
PV(KN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 16.865 0.000 0.000 16.865 7.456
YG(m) 0.567 0.000 0.000 0.567 0.390

FORUMS8
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é\ ’ X[H1

A

1 2 3
(m 1.400 0.000 0.000 1.400 1.000
(m) 0.000 1.400 1.400 [ — 0.000
m 1.400 1.400 1.400 | — 1.000
Pu(kN/m?) 0.000 0.000 0.000 | — 0.000
P1(kN/m?) 13.734 0.000 0.000 | — 9.810
P(kN) 9.614 0.000 0.000 | — 4.905
PV(kN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 9.614 0.000 0.000 9.614 4.905
YG(m) 0.467 0.000 0.000 0.467 0.333
( )
é\ J X[ 1
- :
1 2 3
m 1.400 0.000 0.000 1.400 1.000
(m) 0.000 1.400 1.400 [ — 0.000
m 1.400 1.400 1.400 | — 1.000
Pu(kN/m?) 0.000 0.000 0.000 | — 0.000
P1(kN/m?) 13.734 0.000 0.000 | — 9.810
P(kN) 9.614 0.000 0.000 | — 4.905
PV(kN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 9.614 0.000 0.000 9.614 4.905
YG(m) 0.467 0.000 0.000 0.467 0.333

FORUMS8
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4.2.4
@ « )
Wo(kN/m) 9.810
d(m) 1.000
s 1(m) 25.160
FHEEXMOBE X, KLV RD D,
Upx = X1 - 1x

-

hla + Ah+ ——— +d | - Wo
21

»-»-&
— e

Upx :
Ah :

1x

X1

hla :

Wo

EE O HxTOHE S (kN/m*)

BFRAARAL & T RAABGR Y T AKAL & DKL ZE (m)
CEEO R E CORFERE (n)

BRBEH R ()

TP D Lo AR LI3KKERZRT H 2 & TREKE L LTIEARIR,

B T KR (m)
s KO B AR E R (kN/m”)
DRI K i e & ARSI 8 0D 22 ()

FORUMS8
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@ ( )
( )
muumuuiiiunmiimiii‘ui‘ui‘uiiiiiiii‘lii‘li‘lﬁiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii
TLLLLLLLY
X3 X [H2
A h(m) = 1.868(m)
hla(m) = 0.260(m)
1 2 3 4

L(m) 0.000 6.000 12.060 0.000 | —

Lb(m) 1.100| 6.100 | 12.100 | 24.160 | ——

Lf(m) 1.100 12.100 24.160 24.160 | ——

0 () 0.000| o0.000| 5.711| s5.711| ——
Pb(kN/m?) 29.884 26.243 21.873 13.089 0.000
PF(kN/m?) 29.884 21.873 13.089 13.089 0.000
P(kN) 0.000 | 144.346 | 210.816 0.000 0.000
PV(kN) 0.000 | 144.346 | 209.770 0.000 | 354.116
XG(m) 18.000 15.091 6.502 0.000 10.003
PH(kN) 0.000 0.000 20.977 0.000 20.977
YG(m) 1.200 1.200 0.650 0.000 0.650

( )

FORUMS8
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:.uuw.unw.iﬂnmﬂmimi'ui‘ui‘umiiiiiiiii T
LLLLLLLY

X [H13 X ]2
A h(m) = 1.600(m)
hla(m) = 0.000(m)
1 2 3 4

L(m) 0.000 6.000 12.060 0.000 | —
Lb(m) 1.100 6.100 12.100 24.160 | ——
Lf(m) 1.100 | 12.100 | 24.160| 24.160 | ——
0 () 0.000 0.000 5.711 5.711 | ——
Pb(kN/m") 24.820 21.701 17.957 10.434 0.000
PF(KN/m’) 24820 17.957 10.434 10.434 0.000
P(kN) 0.000 | 118.974 | 171.197 0.000 0.000
PV(KN) 0.000 | 118.974 | 170.348 0.000 | 289.321
XG(m) 18.000 15.094 6.530 0.000 10.052
PH(KN) 0.000 0.000 17.035 0.000 17.035
YG(m) 1.200 1.200 0.653 0.000 0.653

FORUMS8
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4.2.5

)
(kN (kN X | Y | MxqNem) | oMy@eem) | M(kN.m)
480.502 0.000 | 9.558 | 0.000 | 4593.413 0.000 | 4593.413
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
72.202 10.068 | — 726.934 726.934
0.604 ~1.658 | 18.000 | 1.567 10.863 ~2.508 8.266
0.000 | -16.865 | 18.000 | 1.767 0.000 | -20.801| -29.801
7.456 | 0.000 | 0.390 2.910 2.910
354.116 |  -20.977 | 10.003 | 0.650 | -3542.330 | -13.640 | -3555.970
0.000 | — | 0.000 0.000 0.000
199.281 | -32.045 | 8.977 | 1.346 | 1788.881 | -43.120 | 1745.752
)
(kN (kN X | Y@ | MxqkNem) | MyckNem) | M(kN.m)
480.502 0.000 | 9.558 | 0.000 | 4593.413 0.000 | 4593.413
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
72.202 10.068 | — 726.934 726.934
0.604 ~1.658 | 18.000 | 1.567 10.863 _2.508 8.266
0.000 | -16.865 | 18.000 | 1.767 0.000 | -20.801| -29.801
7.456 | 0.000 | 0.390 2.910 2.910
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 | — | 0.000 0.000 0.000
553.307 | -11.068 | 9.634 | 2.664 | 5331.211| -29.488 | 5301.722
)
(kN (kN X@) | Y@ | MxqNem) | oMyNm) | MCkN.m)
480.502 |  -67.283 | 9.558 | 1.387 | 4593.413 | -93.326 | 4500.087
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
0.826 ~3.083 | 18.000 | 1.567 14.867 ~4.829 10.038
0.000 ~9.614 | 18.000 | 1.667 0.000 | -16.023| -16.023
4.905 | 0.000 | 0.333 1.635 1.635
289.321 |  -17.035 | 10.052 | 0.653 | -2908.203 | -11.124 | -2919.327
0.000 | — | 0.000 0.000 0.000
192.097 | -92.109 | 8.850 | 1.343 | 1700.078 | -123.667 | 1576.410

FORUMS8
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( )
(kN) (kN) xany | oyam) | oxeem) | omyqenm) | Mkn.m)
480.592 |  -67.283 | 9.558 | 1.387 | 4593.413 | -93.326 | 4500.087
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
0.826 ~3.083 | 18.000 | 1.567 14.867 ~4.829 10.038
0.000 -9.614 | 18.000 | 1.667 0.000 | -16.023 | -16.023
4.905 | 0.000 | 0.333 1.635 1.635
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 | — | 0.000 0.000 0.000
481.418 |  -75.074 | 9.572 | 1.499 | 4608.281 | -112.544 | 4495.737
4.3
4.3.1
y- X
N
B
e = E - X
X : (m)
M (kN.m)
N : (kN)
e : (m)
B : = 18.000(m)
(m
NGRN) | omEkNemy | x@m) o o
109.281 | 1745.752 | 8.760 | 0.240 |  3.000 | OK
553.397 | 5301.722 | 9.580 | -0.580| 3.000 | OK
102.007 | 1576.410 | 8.206 | 0.794 |  6.000 | OK
481.418 | 4495.737 | 9.339 | -0.339| 6.000 | OK
4.3.2
Fs = u
H
Fs :
N (kN)
f = 0.70
H (kN)

FORUMS8
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N(kN) HCKN) Fs Fsa
199.281 32.045 4.353 1.500 | OK
553.397 11.068 35.000 1.500 | OK
192.097 92.109 1.460 1.200 | OK
481.418 75.074 4.489 1.200 | OK
4.3.3
o EDOENLE N E R OBNICH 256 (B3 e < B/6)
N ( 6. e)
P=— 11+
B B
fr EOVERALE DK OIS 5856 (A 01 ¢ = B/6)
2+N B
P = , X =3 (—— - e)
X 2
P: (kN/m?)
B : = 18.000(m)
X i (m)
N : (kN)
e : (m)
(kN/m*)
N(kN) M(KN._m) e(m) x(m) P Pa
199.281 1745.752 0.240 26.281 11.956 | 294.000 [ OK
553.397 5301.722 0.580 25.259 36.691 | 294.000 [ OK
192.097 1576.410 0.794 24.619 13.495 [ 441.000 | OK
481.418 4495.737 0.339 25.984 29.764 | 441.000 | OK
5.1
2.000 (m)
5.2 A
5.2.1 (hla)
hla = 0.260 (m)
5.2.2 (h1b)
hlb 1
— = —(y1 + 8- F2*-1
e 2 )

1
hlb = E@l +8-0. 4952*1> +0.843 = 0.304 (m)

hib :
h2
F2

(m

(m

FORUMS8
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5.2.3 (hla) (h1b)
hla(=0.260) < hib(=0.304) A

L=1L11+L2
L1 : (m)
L2 : (m

L1

L1 hla hlb

—q—;x+a——h"—hc“°h
C
q (m*/s)
C (=h"*/n)
n A
X (m)
a :
hc : (m)

hla(x=0) a h hilb x=L1

x=0
1 , 1 )
a = n * hla* = hc® + hla = n - 0.260" = 0.528° +0.260 = —0.037

(hib)  0.304 (m) L1 X

a’ 1
- X ta-=

- = hib' = he’ - hlb

hlb
C = h1b”*/n = 0.304"° /0.0350 = 23.429

1 ‘ c
Ll = x = - ( — +hlb" = h¢’ - hlb - a )° —
4 q
1 23. 429
= - | —+0.304" - 0.528"+ 0.304 - (-0.037) | - — = 2.081 (m)
4 1. 200
] hc q
hc
: Q =30.000 (m/s)
hc 1
\/QZ - B \/30. 000 - 25. 000
F = - = — = 1.000
g A 9.800 + 13.192°
hce = 0.528 (m)
Ve = 2.274 (m)
A= 13.192 (m)
B = 25.000 (m)
q
h1b(=0.304) A =7.601 (M)

V = 3.947 (m/s)
g=V hilb =1.200 (m/s)

FORUMS8
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(L2)

—
1

A

-
1

5.3 B
LB = (3 5)x h2 = (3 5)x 0.843 = 2.528

L2 = (4.5 6)x h2 = (4.5 6)x 0.843 = 3.793  5.057 (m)

L1 + L2 = 2.081 + 3.793 5.057 = 5.873 7.137 - 7.000 (m)

4.214 — 4.000 (m)

FORUMS8
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p w = 1000.000 (kg/m%)

B
E E: E: E:
p b/pw 2.090 2.090 2.090 2.090
a(x 107%) 0.790 0.790 0.790 0.790
B 2.800 2.800 2.800 2.800
vd (m/s) 1.424 3.018 4.613 2.274
W (kN) 0.000 0.021 0.265 0.004
3 6
W b [ Vd
ol e )
ob - ow g B
_ 1 " ob/owXpw [Vd\’
ob/ow -1 g B
W (kN)
vd (n/s)
a :
pw: (kg/m®)
pb: (kg/m*)
B -
i 1 * 2,090 1000. 000 [2.274\°
W =0.790x10" . ‘ = 0.004 (kN)
2.090 - 1 9. 800* 2. 800
( A
B 1 *2.090x1000.000 [4.613\"
W =0.790x10" . : = 0.265 (kN)
2.090 - 1 9. 800* 2. 800
( A )
i 1 * 2,090 1000. 000 [3.018\"
W =0.790x10" . =0.021 (kN)
2.090 - 1 9. 800* 2. 800
B
. 1 *2.090x1000.000 [1.424\"
W =0.790x10" . - = 0.000 (kN)
2.090 - 1 9. 800 2. 800

FORUMS8
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